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[ E £ 255 | W | =2 [GROSS] HDCP | NET | IEf#: E % 255 | | =2 [GROSS| HDCP | NET || JEf: E £ 855 | 7w | == | GROSS| HDCP | NET
1 [%£@ & 45 41| 86| 18.0| 68.0f 51 Bk ==& 48 | 49| 97| 228 74.2| 101 |HZ & 49 50 | 99 | 22.8| 76.2
2 |\ #x 44 46 | 90 | 21.6| 68.4| 52 |+ =ik 43 | 47| 90| 15.6| 74.4| 102 |kan BE 51| 48| 99| 22.8| 76.2
3 |ED Eth 42 40| 82| 10.8| 71.2| 53 |mE mE 42 48 | 90| 15.6| 74.4| 103 |88 70 52| 47| 99| 22.8| 76.2
4 |ty BE 48 | 40 88 | 16.8| 71.2( 54 [i#m ==8 51 | 45 96 | 21.6| 74.4| 104 |/ {E4E 45 | 54| 99| 22.8| 76.2
5 |#iR =28 47 59 | 106 | 34.8| 71.2| 55 |k & 48 | 48 96 | 21.6| 74.4| 105 |HE EA 48 51| 99| 22.8| 76.2
6 |BBIn A 43 50 | 93| 21.6| 71.4| 56 |hH MR 49 | 47 96 | 21.6| 74.4| 106 |;Zk EE 52 | 53| 105 | 28.8| 76.2
7 [ B 50 | 42 92 | 20.4| 71.6| 57 [B& = 53| 49| 102 | 27.6| 74.4| 107 |hus & 45 41| 8| 9.6| 76.4
8 |hZE = 52 | 52| 104 | 32.4| 71.6( 58 A% 128H 44 45| 89| 14.4| 74.6| 108 |EO HBX 49 | 49 98 | 21.6| 76.4
9 [/NFE ENEE 44 41| 85| 13.2| 71.8[ 59 |iZm 5 51 44| 95| 20.4| 74.6| 109 |WuA& ik 44 41| 8| 84| 76.6
10 |Hng =i 43 | 42 85 | 13.2]| 71.8| 60 |[hEm EFE 47 | 48 95 | 20.4| 74.6| 110 |2 & 49 | 54| 103 | 26.4| 76.6
11 [Pl &% 43 48 91| 19.2 71.8] 61 |[xv = 49 46 | 95 | 20.4| 746 111 [dL) FI= 49 | 41 90 | 13.2| 76.8
12 |F1R BE 41 | 37 78| 6.0| 72.0[ 62 |[¢% fEt 45 50 | 95| 20.4| 74.6| 112 [1T# 1E2Bh 47 | 43 90 | 13.2| 76.8
13 [l #F 42 42| 84| 120] 720 63 |BB BAE 50 | 51 101 | 26.4| 74.6| 113 |FMH @ 55 | 47| 102 | 25.2| 76.8
14 |[4£) == 42 | 42| 84| 12.0| 72.0| 64 |[EE mEx 56 | 57 113 | 38.4| 74.6|| 114 |;5fE FEH 46 | 49| 95| 18.0| 77.0
15 |Hh B— 47 55 | 102 | 30.0| 72.0( 65 |B# == 49 38| 87| 12.0| 75.0| 115 |&@ 3 48 | 53| 101 | 24.0| 77.0
16 |f0A &= 45 43 | 88| 15.6| 72.4| 66 |mfF H= 48 | 45| 93| 18.0| 75.0( 116 |pEE @2 50 | 51| 101 | 24.0| 77.0
17 B0 R 42 | 44 86 | 13.2| 72.8| 67 |4t sk 53 | 46 99 | 24.0| 75.0| 117 |tRE == 45| 43| 88| 10.8| 77.2
18 |#FX HA 50 | 48 | 98 | 25.2| 72.8| 68 |AH #HBE 48 | 51 99 | 24.0| 75.0| 118 |®R)I f#&— 48 | 46| 94| 16.8| 77.2
19 |FH B® 39| 40 79| 6.0| 73.0f 69 |HmI =B 46 | 46 | 92| 16.8| 75.2( 119 |FEEm Z=8 54 | 46| 100 | 22.8| 77.2
20 |FEE £k 4 44| 85| 12.0] 73.0| 70 lg& fE— 47 | 45 92 | 16.8| 75 2| 120 |kiz sk 49 51 | 100 | 22.8] 77.2
21 R i 46 45 [ 91 | 18.0| 73.0| 71 |57 = 45 47 92| 16.8| 752 121 |[#EEB =% 52 | 48| 100 | 22.8| 77.2
22 |HE EE 46 51| 97| 24.0( 73.0f 72 |s8m M@= 46 46 | 92| 16.8| 75.2| 122 |k EE 53 47| 100 | 22.8| 77.2
23 |mNl # 54 | 49 | 103 | 30.0| 73.0| 73 |[Ax mEEx 49 49 | 98| 22.8| 75.2| 123 [lux EEB 48 | 58 106 | 28.8| 77.2
24 kB0 - 45 | 45 90 | 16.8| 73.2| 74 |/NE  fE—ER 52 | 46 98 | 22.8| 75.2| 124 [lux 2 53 | 53 106 | 28.8| 77.2
25 |FEN =H 42 | 48 90 | 16.8| 73.2| 75 |[#m EER 51 53| 104 | 28.8| 75.2| 125 |% B& 58 54 | 112 | 34.8| 77.2
26 Mgk FiE 49 47| 96| 22.8| 73.2| 76 |30 m— 43 42| 85| 9.6| 75.4/ 126 |t£)Il X8 44 | 43 87| 9.6| 77.4
27 [lux ik 50 46 | 96 | 22.8| 73.2| 77 |:£m pmE 44 | 41 85| 9.6| 75.4| 127 |=€ % 48 45| 93| 15.6| 77.4
28 |%8H HEF 53 43 | 96 | 22.8| 73.2| 78 |#A Ex 49 48 | 97| 21.6| 75 4| 128 |44 &E= 49 | 44 93 | 15.6| 77.4
29 (BB BA 43 40 | 83| 9.6| 73.4| 79 |iEm = 52 | 51 103 | 27.6| 75.4| 129 |&E EE§& 49 50| 99| 21.6| 77.4
30 A BB 42 | 41| 83| 9.6| 73.4| 80 |#% = 49 | 54| 103 | 27.6| 75.4| 130 |@mE ®E 53 | 46 99 | 21.6| 77.4
31 [ME &h 43 46| 89 [ 15.6] 73.4| 81 [iEX g M| 43| 84| 8.4 75.6| 131 [lLA rEiE 49 50 | 99| 21.6| 77.4
32 |=% EA 47 | 42| 89| 15.6| 73.4| 82 [hNE ®— 47 49 | 96| 20.4| 75.6| 132 | = 59 | 52 11| 33.6| 77.4
33 |=E RA 46 | 49 95 | 21.6| 73.4|| 83 | = 48 | 48 96 | 20.4| 75.6| 133 |F=E #= 59 52 | 111 | 33.6| 77.4
U |BE EE 43 | 45 88 | 14.4| 73.6| 84 = = 49 47| 96| 20.4| 75.6| 134 |l FHi 50 | 42 92 | 14.4| 77.6
35 |HE B 45 43 | 88 | 14.4| 73.6| 85 |mE &T 53 | 55 108 | 32.4| 75.6| 135 |mi& ==& 49 43| 92| 14.4| 77.6
36 |gnl M 40 | 48| 88| 14.4| 73.6] 86 |mHyRE =@ 41| 42| 83| 7.2| 75.8| 136 |ILE BERF 47 45 | 92| 14.4| 77.6
37 |BA KA 47 41| 88| 14.4| 73.6|| 87 |&B =& 4| 42 83| 7.2| 75.8| 137 |2@A %A 53 | 45 98 | 20.4| 77.6
38 |EF TR 56 | 56 | 112 | 38.4| 73.6| 88 |BE BEEBEC 46 | 43 89 | 13.2| 75.8| 138 [ = 48 56 | 104 | 26.4| 77.6
39 |#&X —H 44 43 | 87| 13.2| 73.8| 89 |MuE B4 45 | 44 80 | 13.2| 75.8] 139 |2 ZHA 46 45| 91| 13.2| 71.8
40 M e 44 | 43 87 | 13.2| 73.8[ 90 [;)kam f@h 46 | 43 89 | 13.2| 75.8] 140 [Bam g% 46 51| 97| 19.2] 77.8
41 [ FHx 40 [ 47| 87| 13.2| 73.8] 91 |[ME HBE 49 | 46| 95| 19.2] 75.8| 141 [35m Rk 53 | 50 103 | 26.2] 77.8
42 |BBF & 41| 46 | 87| 13.2| 73.8| 92 4t #E 51 | 44| 95| 19.2| 75.8| 142 |BE iR4&E 56 | 53 | 109 | 31.2| 77.8
43 |#EH# =T 47| 46| 93| 19.2] 73.8| 93 |&E == 54 53 | 107 | 31.2| 75.8{ 143 |=) = 44 46| 90| 12.0| 78.0
44 |Ert H8 49 | 44| 93| 19.2| 73.8| 94 |E# =LER 50 | 57| 107 | 31.2| 75.8| 144 [luOo %= 48| 48| 96| 18.0| 78.0
45 |HEE 43| 43| 86| 12.0| 74.0| 95 |wm =T 48 | 40| 88| 12.0| 76.0( 145 |4tk BB 53 | 49 102 | 24.0] 78.0
46 |BEE FnE 41 | 45 86 | 12.0| 74.0| 96 |#HmE EZ 43| 45| 88| 12.0| 76.0| 146 |luh == 54 48 | 102 | 24.0| 78.0
47 |HHE BHA 51| 47| 98| 24.0| 74.0| 97 |£B 3 52 | 54 106 | 30.0| 76.0| 147 |K& Fik 51 | 57 108 | 30.0| 78.0
18 |BAE @ 41 | 44 85 | 10.8| 74.2| 98 (@I = 48 | 58 106 | 30.0| 76.0] 148 |2 —8 55 | 53 108 | 30.0| 78.0
49 Em EA 46 | 45| 91| 16.8| 74.2| 99 |WwAx #£x 47| 46| 93| 16.8| 76.2| 149 |&EX =& 52 | 56 108 | 30.0| 78.0
ﬁ&_ 49 | 42| 91| 16.8] 74.2] 100 N —% 46 | 47 93 | 16.8] 76.2] 150 |t B E— 46 | 55| 101 | 22.8| 78.2
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JIE 2 K % #55E | (B | & [GROSS| HDCP | NET || JE4E K 2 #55E | 4#wr | 52 | GROSS| HDCP | NET || JiEf K G #58e | 7w | &2 [ GROSS| HDCP | NET
151 |KFE 0 51| 50 | 101 | 22.8| 78.2| 201 |[9hEe t&F 50 | 49 99 | 18.0( 81.0
152 |db) 51 | 56 107 | 28.8| 78.2|f 202 |T& (& 52 53| 105 | 24.0( 81.0
153 |4kl = 58 55 | 113 | 34.8| 78.2| 203 |BE IEX 50 | 61 111 | 30.0| 81.0
154 |EX =F 44 | 50 94 | 15.6| 78.4| 204 (&K = 57 60 | 117 | 36.0( 81.0
155 |FEf& H 48 | 52 | 100 | 21.6| 78.4| 205 |&&tH %= 60 | 61 | 121 | 40.0| 81.0
156 (F@JIl 28 53 | 53 106 | 27.6( 78.4]) 206 |7 (& 49 | 54 103 | 21.6| 81.4
157 |&FIL #th 60 | 52 112 | 33.6( 78.4] 207 |BBAR ©&E 54 49 | 103 | 21.6| 81.4 ARZX +SOX
158 [ERH [E7] 51 48 99 | 20.4( 78.6( 208 |[&X EZER b5 54 | 109 | 27.6( 81.4 IR BE 78
159 || 50 | 55| 105 | 26.4| 78.6( 209 |AHp K— 46 | 50 96 | 14.4| 81.6
160 [/ 0 52 59 | 111 32.4| 78.6| 210 [¥FE ZEF 61 47 | 108 | 26.4| 81.6
161 |EiI & 44 | 48 92 | 13.2| 78.8) 211 |5 == 60 | 54 | 114 | 32.4| 81.6
162 |#% EA 50 48 98 | 19.2| 78.8| 212 |8 2 52 49 | 101 19.2| 81.8
163 |FFEH 37hX b5 | 49 104 | 25.2| 78.8| 213 |4t 2—HA 48 59| 107 | 25.2| 81.8
164 Bl =— 53 | 51 104 | 25.2| 78.8] 214 |8 kK IEA 58 | 55| 113 | 31.2| 81.8
165 |FEH & 51 53 | 104 | 25.2| 78.8| 215 |{&% ©H 48 b8 | 106 | 24.0| 82.0
166 (JIIS FEsh B3 | 57 | 110 | 31.2| 78.8( 216 [dt# =k 62 | 60| 122 | 40.0| 82.0
167 |hE EE 60 | 50 | 110 | 31.2( 78.8| 217 [ AR 47 | 52 99 | 16.8| 82.2
168 |db&t HRi# 59 57 | 116 | 37.2| 78.8| 218 (13 R4 58 | 53 111 28.8| 82.2
169 |XiE =it 45 | 40 85 6.0 79.0( 219 (=] [ 55 | 62 117 | 34.8| 82.2
170 [k ER 48 | 49 97 | 18.0( 79.0l 220 BB B&F 56 | 61 117 | 34.8| 82.2
171 |B {E#0 48 49 97 | 18.0] 79.0) 221 |luO = 50 | 59| 109 | 26.4| 82.6
172 |2 HRF 52 51| 103 | 24.0| 79.0| 222 |=:x &= 55 | 54 109 | 26.4| 82.6
173 |'EH E 55 | 54 109 | 30.0( 79.0| 223 (Nl =3h 55 | 64 119 | 36.0| 83.0
174 |EO {8 51 45 96 | 16.8| 79.2| 224 |[#&K £ 62 | 61 123 | 40.0| 83.0
175 |BRE £E 45 | 51 96 | 16.8| 79.2| 225 |£E #E 61 50 | 111 27.6| 83.4
176 (&Il =& 47 | 49 96 | 16.8| 79.2| 226 |=4A B 56 | 61 117 | 33.6| 83.4
177 (¥ FHE 52 | 50 102 | 22.8| 79.2| 227 &% &t 51| 64| 115 | 31.2| 83.8
178 (#% F)= 47 | 55 | 102 | 22.8| 79.2| 228 |&F BB 57 51| 108 | 24.0| 84.0
179 [s EF 56 | 52 108 | 28.8| 79.2| 229 |F8E #niE 58 62 | 120 | 36.0| 84.0
180 [FH# 1B 51 | 44 95 | 15.6| 79.4| 230 [IRF &= 65 | 59 | 124 | 40.0| 84.0
181 |FRZE #uE 471 | 47 94 | 14.4| 79.6| 231 |H*Lt %= 65 59 | 124 | 40.0( 84.0
182 |§H & 56 | 50 106 | 26.4| 79.6]) 232 | LB 4AF 51 56 107 | 22.8| 84.2
183 |it E— 48 | 45 93 | 13.2| 79.8] 233 |& RIE 55 58 | 113 | 28.8| 84.2
184 |HE H3 47 | 46 93 | 13.2| 79.8| 234 [lLAEx =FE=B 55 |1 58 | 113 | 28.8| 84.2
185 |B® F— 55 | b6 111 31.2( 79.8| 235 | K& f& 55 58 | 113 | 28.8| 84.2
186 |¥AE ¥HH 51 47 98 | 18.0( 80.0| 236 (LA #F|x 54 | 58 | 112 | 27.6| 84.4
187 |l 2 56 | 48 | 104 | 24.0| 80.0( 237 ([ E ABE 53| 56 | 109 | 24.0| 85.0
188 [LLUEF (XET 55 | 61 116 | 36.0| 80.0f 238 |#& b6 | 65 121 36.0| 85.0
189 A P} 47 50 97 | 16.8| 80.2| 239 [EHA KXmE b8 | 61 119 | 33.6| 85.4
190 |88 2 48 | 49 97 | 16.8| 80.2]| 240 |FB FE4E 48 58 | 106 | 20.4] 85.6
191 |ATHE EFAER 57 52 | 109 | 28.8| 80.2| 241 |8 F 57 | 67 124 | 38.4( 85.6
192 [JIE2 B—R 57 52 | 109 | 28.8| 80.2( 242 (@A M= 60 62 | 122 | 36.0| 86.0
193 (&5 & 57 | 51 108 | 27.6( 80.4] 243 |J#E T b9 | 56 115 | 28.8| 86.2
194 |45 F B85 50 | 57 107 | 26.4( 80.6| 244 |H+ BHE 55| 59| 114 | 27.6| 86.4
195 | BE— 51 b6 | 107 | 26.4| 80.6| 245 |KiE FHit 67 | 54 121 33.6( 87.4
196 ik HHz 54 53 | 107 | 26.4| 80.6| 246 |EaE; == 49 | 56 | 105 | 16.8| 88.2
197 |€8 E—HF 52 48 [ 100 | 19.2| 80.8| 247 |/‘heh A ®EF 63 | 66 | 129 | 40.0| 89.0
198 |faK &EF b4 | 46 100 [ 19.2| 80.8]) 248 |#&#@E @l 63 | 56 119 | 27.6| 91.4
199 [FHIl EEEM 50 | 56 | 106 | 25.2| 80.8| 249 |#&)N EE=E 63 | 70 | 133 | 39.6( 93.4
200 |EEAT ETIED 55 | 57 112 | 31.2] 80.8




